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Vazba there is/are + podmeét

vyjadruje existenci nebo vyskyt néceho. Sltvko
there se do cestiny nepreklada.

Kladné véty
There is("s) a museum in our town. = V nasem mésté je muzeum.

There are two cinemas in our town. =V nasem meéste jsou dve kina.
Zaporné véty
There isn’t a station in our town. = V nhasem meésté neni nadrazi.

There aren’t three churches in our town. =V nasem mésté nejsou tri
kostely.

Otazky a kratké odpovedi
Is there a TV in the living room? Yes, there is. = Je v obyvaku televize?
Ano, je.

Are there two children in the picture? No, there aren’t. = Jsou na obrazku
dve déeti? Ne, nejsou.




a door in our classroom.

two doors in our classroom.




f) There are/aren’t two doors in our classroom.




2. Dopln Is there/Are there do otazek

a)
b)
c)
d)
e)
f)

one fridge in a kitchen?
mirrors in the bathroom?
armchairs in the hall?

a cooker in the living room?
one bath in your bathroom?
two showers in your house?




f) Are there two showers in your house?




f) Are there two showers in your house?




a) Yes,t
b) Yes, t
c) Yes,t
d) Yes, t
e) Yes,t
f) Yes,t

Redeni ukolu 3.

nere is./No, there isn’t.
here are./No, there aren’t.
here are./No, there aren’t.
nere is./No, there isn’t.
nere is./No, there isn’t.

nere are./No, there aren’t.
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